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Aun G4 T quariebwise, Arcl Asym: Bearm ON, Laser OFF
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Flun G047 quanstwise. USha2 Asym: Baarm ON, Lasar OFF
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Flun G047 quanetwise, DSbg2 Asyim: Baarh ON, Lassr OFF
Aun G0 T quartabwise. Side Finger Asyrn: Beam O, Laser OFF
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Flun G047 quarnetwise, ISba1 Asym: Baam ON, Lasar DFF
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Fun G047 quartebwise, DSbG1 Ay Baam 0N, Lagar OFF
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Fun 5047 quartebaise. Top Fagper Agyri: Baam O, Latar OFF
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Acc0 Asym (ppt): -200733828.12 +/- 199134890.62
USbg1 Asym (ppt): 2.73 +/- 1.84
USbg2 Asym (ppt): 1.15 +/- 1.29
DSbg1 Asym (ppt): 0.75 +/- 0.54
DSbg2 Asym (ppt): 1.67 +/- 0.51
Top Finger Asym (ppt): -0.65 +/- 0.69
Side Finger Asym (ppt): -0.39 +/- 1.73



Run 5047, quartetwize: ISbg2 vs time

Run 5047, quartetwiza: USbg1 vs time
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Run 5047, guartetwise: DSbg2 vs time

Run 5047, quartetwise: DSbg1 vs time
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Run 5047, quartetwise: horizFing vs tima
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